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（Specification conditions）
Vin:12V
Vout:1.15V
Iout:2.4A(max)



Wave form①
Nothing is connected to the load

（Wave point)
Ch1：Output Voltage
Ch2：Switching Voltage
Ch3：Inductor Current

the output voltage gradually rises.

(Question)
Q1
What is the cause of the gradual 
increase in output voltage?

Q2
What should be corrected in the 

circuit to output the output voltage 
stably when not connected?



Wave form②
An electronic load is connected to the no load, 

（Wave point)
Ch1：Output Voltage
Ch2：Switching Voltage
Ch3：Inductor Current



Wave form③
An electronic load is connected to the 2A load, 

（Wave point)
Ch1：Output Voltage
Ch2：Switching Voltage
Ch3：Inductor Current


